JACOBS Georgia
Tech

Background: Jacobs Engineering is the top
ranked international design engineering firm
(Engineering News-Record) with a reputation
for delivering sustainable and innovative
engineering solutions to clients around the
world. On client projects in the fiscal year
2018, Jacobs helped eliminate over 37 million

Carbon Savings
tons of carbon and recycle over 499 thousand
tons of material.
Objective: With such impressive sustainability Cost Savings:

solutions on client projects, my goal was to
focus on how Jacobs could improve their
internal operational carbon footprint.
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Paper Cost Tablet Initial Payback
) ROI .
Savings Investment Period

$612,000/year  $2,000,000 31%  3.27years $1,629,989

NPV

1. Roadrunner Smarter Recycling 2. Sustainable Bates Ecologic
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Net Present Value (NPV)

The Net Present Value is the financial benefit that would result if the
project was able to provide all of its savings today. In other words... the
MNet Present Value is the lifetime value of the project in today's dollars.

To calculate the NPV of a project, it is necessary to consider how the
value of money changes over time. For example, a thousand dollars are
more valuable today than in one year, since it is possible to invest that
money and gain interest over the year.

What discount rate should be used to account for the change in the
value of money over time? The answer is: Consider the project's
opportunity cost.

For example, assume the company that is considering the $350,000 LED
retrofit has the alternative of investing that money in a business venture
that will provide a yearly interest of 10%. Therefore, the discount rate
can be assumed of 10% because that is the opportunity cost.

The NPV can also be calculated from Microsoft Excel, with the following
formula:

=-PV(interest rate , years, yearly savings) - Initial Investment

VERY IMPORTANT: Add a negative sign before PV because Excel switches

the sign automatically... you will want the savings to be positive and the
initial investment to be negative.

In this specific case, it would look like this:

=-PV(10% , 20, 99750) - 350,000
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